Station B.  Volume-to-Volume Conversions
	1. What volume of hydrogen is necessary to react with 5.0 L of nitrogen to produce ammonia?

N2  +  3 H2   ((  2 NH3


	2. What volume of ammonia is produced from the reaction of excess hydrogen gas with 11.7 L nitrogen gas?

N2  +  3 H2  ((  2 NH3


	3. If 21.9 liters of oxygen are consumed in the below reaction, how many liters of carbon dioxide are produced?

C3H8  +  5 O2  ((  3 CO2  +  4 H2O


	4. If 32.4 mL of hydrogen are produced in the following reaction, how many millilitres of oxygen are produced?

2 H2O  ((  2 H2  +  O2


	5. How many liters of carbon dioxide are produced if 83 liters of carbon monoxide are burned in excess oxygen?
2 CO  +  O2  ((  2 CO2 
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	6.  What mass, in grams, of iron(III) oxide must react to produce 38.1 liters of carbon dioxide?

Fe2O3(s)  +  3 CO(g)  ((  2 Fe(s)  +  3 CO2(g)


	7. What volume of water vapour, in liters, is produced from the complete reaction of 75.0 L of ammonia?

4 NH3(g)  +  3 O2(g)  ((  2 N2(g)  +  6 H2O(g)
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